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3 (Sem-3/CBCS) CHE SE
2021
(Held in 2022)
CHEMISTRY
(Skill Enhancement Course)
OPTION-A

Paper : CHE-SE-3034
(Basic Analytical Chemistry)
Full Marks : 50

Time : Two hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
1. Answer the following questions : (any four)
1x4=4
e fARE Tes i ¢ (Ricwiz 51t

(a) What is algal blooming ?

orgive (e F ¢
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(b) Name the disease caused by excess
fluoride in drinking water.

AR #AITS TEifEs FaiRes Tofifes s
R @R T &

(c) What is bio-preservation ?

o ATHY & o

(d) What is gradient method of elution ?
Y AT AIGE & o2

(e) What is the role of emulsifiers used in
cosmetic formulation ?

eI AT OIS AP B!
e

() What is Dowex A-1 ?
TR A-1 52

2. Answer the following : (any three) 2x3=6
wae frRPRRe et et 2 (Reazr fofi)

(@) Do you think that an instrument of

high precision gives always an accurate
result ?

Tw-RgetoR sARse 35 @Bz iy
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(b)

(c)

(@)

(e)

Can all toothpastes be considered as a
cosmetic product ?

! GACABCRE, 2R A fBpiest ooy IR
NRE ¢

Why is EDTA mostly used in
complexometric titration ?

IWARWILS SA5PTZS EDTA 57
ITTOIR IRTI [ W2

The working principle of Gel permeation
chromatography is based on which
sorption mechanism ?

@ NN 1R smfog I
G (S fFaiRiET eoigs WiyiRe 2

How can Reverse Osmosis (RO)

technique be used for large-scale water
purification ?

RS Wi oo T = AR
ANl CNew afdFare <R IR] iR e
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3. Answer the following : (any two)
5x2=10

wers AR Tew it ¢ (Rieereat 7oy |

(d) What is meant by tests of significance ?
What are those tests ? Briefly discuss

each test. 1+1+3=5
(@) What are preservatives ? How are they ofwo! oISy o TR
classified ? Give few examples of each 1 %‘ ﬁf e ¢ R
class. 2+1+2=5 | ? ATSIRCH! 2ITH ST SCEAHAl 4 |
ARTFIR & ¢ R (@fReew | 4. Answer the following questions : (any three)
R 9 W2 AR (LI Triegel | 10x3=30
firat | o fra erpireR Sew T ¢ (R 5
(b) Discuss the gf:‘neral prir.lciple . of (@) Write short notes on : 2Ysx4=10
chromatographic separation with
reference to migration rate and Y Ot forall 3
retention time. What is Rsvalue ? Why ) .
is it significant ? () Standard deviation
3+1+1=5 = [gfe
I AP AR NFoCE] O
S R W% 41 I AATT SIS (i) Chelating agent
R Ry 3 10T R e 30t R waegolel? RecafB arors
(c) What do you mean by ‘com 1
e plexometric :
titration’ ? What are masking agents ? (iij) Food processing
Explain its role in complexometric M FRCNE
titration with suitable examples.
0+1+2=5 (iv) Arsiron Nilogon
O ST IR R g » g e - it el
TR ¢ e wfte SNl 2ifRFES
R ofiet ey )
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‘What is DVB ? What is its role in
ion-exchange resin ? What is the
basic difference between cation-
exchange resins and anio?”
exchange resins ? 141435

DVB & ¢ wime-Rfwn @fme 20
Yl R 2 Brm-Rftem o G
RV e srers aicen & ¢

. t
Discuss  some importa?

. . . ngeé
applications of ion-exch? gs
resins,

SRRy <R (2O @%‘ﬁ"f{
HAR Ry witgenoan 34|

What are the major ingredi€
Cosmetic products P DiscUSS e
role of each ingredient 12 ¢

. ive
COsmetic formulations- G _5
CXamples, 2+3

PR M ez, GoreaeTZ
I TR ergosas €00

the

B ey et 91 R

W‘fml

6

nts Of

(i) What are deodorants and
antiperspirants ? How are they
different ? Why are antiperspirants
considered as quasi-drugs but not
as cosmetics ? 2+1+2=5

Toe' = wiw fSHAIgPtes e
& @ 2 ¥ e aten & ¢
AFSATES T (@RI gis’
fEreentR oo F =@, e AN
f&piest 723, w2

(d) What is water pollution or water
contamination ? Discuss various
sources of water contamination.

2+8=10
AN 27Ed & 2 STt evEae [Rfey Sewr-
TR RIw wcEm w4

(e) (i) What is sampling ? What are
different sampling methods used
in water analysis ? 1+4=5

TR IR B 3@ 2 o R
werEe & & T omfe e w9
£
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What do you mean by dissolved
oxygen (DO) ? Discuss the
principle of determination of
dissolved oxygen in water.

1+4=5
vitws SRTER TFE B @ e NS
Targe SR AR Fofa v Amfes
& TSB! SACETDa 5 |

What are significant figures ? How
many significant figures are there
in 1:012 x10-4 ? Do the following
calculations and round off the
answers to appropriate number of
significant figures : 1+1+3=5

(A) 35678 mg +2.17mg +5.0mg +2.91mg
(B) 0.156cm3 x 9.238 g cm-3

LF RPN F 2 1:012x1074 ©
(0! ML T (g 2 were WA
M 9 W B FEARFEER AT
AL ST AT o T 8

(A) 35678 mg + 2.17mg +5.0mg +2-91™9

(B) 0.156 cm3 x 9.238 g cm~3
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(i) Define mean and median. For

titrating 25mL of a given
copper (II) solution, the volumes
of the standard hypo solution used
were 20.2, 19.5, 19.9, 20.7 and
20.0 mL. Calculate the mean and
median of the consumed volumes.

2+3=5

T i TFF AL T2 | 25mL FAR
(I)-3 T 96! SR TR 929
(2T &S R2s-ua @B ARl oA
20.2, 19.5, 19.9, 20.7 % 20.0

mL. SqN7Hte IR (@ TS
QICIR S S R B e e
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OPTION-B
Paper : CHE-SE-3034

( Chemical Technology and Society)
Full Marks : 50

Time : Two hours

' andicate
ures in the margin indica

The ﬁg for the questions.

full marks

] n Assameseé-
or either in English or it

Answ

the
ions {rom
7 questio R e
any fou
Answer

following -

SR RINCOUDCS fare=1ee)

two examples of na

sifasrs vt °

tural po1ym6f'
(@) Give |
o e T T

e
; r ozo™
(b) Which light i responsible fo

Jayer depletion ? e @]
e (AR A e T

C »

10
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(c) Which element is mostly used for
vulcanization of rubber ?

TS SIEENETEAS (T e TG=es
(IS 91 77?2

(d) What is meant by relative humidity ?
st wiwst I & gai e
(e) What is genetic engineering ?

(Eve G & o

() What are the gases responsible for acid
rain ?

SifEe Twga @ W oy & & oo

Answer any three questions from the

following in brief : 2x3=6
weTe fml eI R b s Tew il ¢

(@) What is the difference between chemical
engineering and chemical technology ?

(el SfefrfRe i @ hice (G
Mere Ay &9
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(b)

()

(@)

Answer any two questions from the

Discuss briefly the effect of acid ran
on the environment.

25Ty gome WIfEs YT AN 125
Sl B |

What is alternative energy ? What are
different alternative energy sources ?

ow e & » Froe “ifeT SRR & & 2

What is meant by thermoplastic and

thermosetting plastic ?
wﬁﬁmﬁtﬁvmaaﬂﬁﬁﬁﬁaznﬁRV§%mﬂﬁ$§§ﬁ2

it
What is solar energy ? How does

work ?

oTR *fe B 2 3 wce e F 2

5x2=10

following :

mﬁmmﬁmwwms

(@)

ct
Briefly discuss the greenhouse effe

and its causes.

caﬁﬂaqﬁ:a@na<aﬁaiana=¢ﬁﬁﬂ?WaﬁﬁE¢
SIS 9 |
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(b) What are the steps may be taken to
prevent the water pollution ? Discuss
briefly.

AR IR o1 TS AR B o 0
2, BYLF Ao |

(c) Discuss briefly different compositions
of soil.

o3 ffe atom R syt s =

(d) What is clean energy ? Discuss different
types of clean energy briefly.

et s & » Rfow s et #ifes e
SYLF AN 41 |

4. Answer any three questions from the
following : 10x3=30

Wﬁmmﬁm%ﬁ?f?%mﬁmg

(@) Explain the social effects of soil

pollution with suitable example.
Discuss various sources of soil
contaminations.

Wﬁm‘fWGWﬁSMCW
W%QWMWWI
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(b) What is synthetic polymer ? Discuss

(c)

(@)

the uses of different plastics with

ples. How do plastics

suitable exam
nt ?

create problem to the environme
Discuss.
sepeife szam & ¢ Rfew ol AT

w%WWWWWIW
e e e P 2

ARTER 87O
nGilakal
Explain briefly Material Balance and
Energy Balance of 2 system with
chemical reaction.
a5t oS s ORI S % SN
R e oqcs Al a9

is ?

t by energy cris

What is mean d
sion an

piofu
alternative sources

(e) Describe different technologies used in

chemical industry.

IS Sraere e Riew agfes
et vt feec

Explain the term ‘manufactured drug’
Discuss different steps used in genetic;
engineering. How are proteins
synthesized ?

egfogs g I & @ ¢ o
i IRge Rfon *w SR St 3 |
Afod (T AFS I W ?
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OPTION-C
Paper : CHE-SE-3074

(Intellectual Property Rights )

Full Marks : 50

Time : Two hours

The figures in the margin indicate

Jull marks for the questions.

Answer either in Ensligh or in Assamese.

1. Answer the following questions : 1x4=4
ST il eI Tel 9 ¢
() Why are geographical indications

(i)

(ii)

important ?

TR efer g e

What is composite trademark ?

e it Be fie

What is the period of industrial design
and renewa] period ?

T BT T e e e R
Wzﬁﬁa‘f'ﬁﬁ?

| 3 (Sem-3/CBCS) CHE SE/G 16

1

1

J ic i i i de in
iy) What basic inclusion 1s ma
“ WTO Treaty that came into force from

01-01-1995 ?
01-01-1995-3 ﬂat/amﬁ @i, WTO
e & ErRed Teee (FF ?

. . . =6
2.  Answer the following questions: 2x3

ot fiml epRd Tew fiat ¢

(i) Write the consequences of failure tg
renew a patent.
oI5 e W iR & 29 i

(i) (a) How are patent and discoverielz/s
related ? A

TR TS (o581 T & 2

: ’
(b) ‘Gene sequencing 1S patenta:ble.
__Write ‘correct’ or ‘incorrect’ for

1
this statement. %

< S (B PRI AR | —Sf&T!
‘wg’ @ Tug T

(i) What is ‘collective trademarks’ ? 2

‘Y e &

Contd.
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3. Answer any two questions from (a), (b) (¢) () Write the principles of Paris
and (d): 5x2=10 | Convention. 2
g;r:ﬁm(a), (b), (c) &% (d) I Repizt g5t & oIfR5 pfeiaa Totmm ol
frat o

(¢ (i) Explain the statement, ‘Copyright

(@ @) Write four products where is Zﬂge;t?" How is 111tt r;j;;ﬁ With
' : ro s copyrig e
Industrial designs are applied. HOV d 1%+1+%=3
is industrial design different from™
trademark ? (1/2><4)+2=4 MWW_W QEHSWI

JAFH TS TR TF & 2 IR

e B e i =, HIRE! AT 79 Talg IRT ARG 2
T %NTI kﬂi %-5’ CEE I (i) Write the difference between
L 2 licence and assignment of

(i) How is Madrid Protocol related ti copyright. 2
WIPO ? TPRIHT [E TR SRGT
W v wpre Wipo T A @ ¢ el & 2

(b) @)

3 (Sem-3/CBCS) cyg SE/q

Write, how products are pr Ote‘fted
under geographical indicatlona;

(d) What are the obligations of government
towards protection of biological

ow e diversity? How are plant breeders’

geogr Car.1 & person trad gcd rights protected under Intellectual

pmgualt)hlcall indication tgfl’s Property Rights ? 3+2=5
ct?

oa (baeR AT oS 7eFIT Wikl &

IR (St iR SR

TF 9 = ? (ST

N mﬁamqgﬂﬂﬁﬂﬂ
(T 3R shicw ¢

18

@l Se ¢ @ Aifel witeRe wEive
Sfew BoRT SRR @R AT T ¢
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Write the answers of any three questions

frmp the following (a), (b), (c), (d), (e) and (f)
options :

10x3=30

TS T2 (), (b), (), (d), (e) i Ricereat
fofiot om v ez O

(@ () Why and how can registered layout

designs be assigned to others for
use ? Who can register a layout

.design and what are registerable
items ? 5

ﬁwwmc:mhv@mwmw
IRN IR VR W = ? @R
TR AGR TR SR Wi I WO
T AGR IR oiicg

Write about the obligations of
patent holder, S

(IS 49 IE TooiE el |

Write four salient features of GATT
Agreement, 4

GATT B el sy aféisy fBral|

3 (Sem-3/CBCS) CHE SE/G 20
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(1)

() )

(i)
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Write in short about International

Agreements of India on

trademarks. 6
TS T IS GUNIFes R

@il R, R R s

How do TRIPS Agreement provide
definition of ‘trademark’ ? Does
trade-mark symbol expire after a
set term of time ? Write four
qualities of a good trademark. How
does it help people in business ?

1%e+%+4+1=7

TRIPS §feR Wo GowiR ket & 2
Goare B3 M @3 RS e =g
a1 T G 2 Bt OF GO 51D
e B | ARSI (A 7=
FE ?

Write in short, inception and
development of Intellectual
Property Right in world. 3

e @ifas Frifes PR oS =i
RN (RS T, ST Bl |
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(i)

) )
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* When and where Budapest Treaty -

signed and entered into force

internationally ? Write the

significant point of this Treaty-
(Vo Yot Vo) +1%=3

A Ay pfom, 3'© WE 2
I Reig s CafE e X A
TRy FARE B

Write about the responsibilities 0:;
4 copyright owner.

%jna@asrmurw@wﬁwﬁﬂ
|

. s
In business, how trade Secre:cct
used ? How can a persorn pr32;4
trade secrets of its own ? 2

Wmﬁascenﬂﬁw@ﬁ%g
X2 GO YR (o dq AT 17
mﬁﬁﬁs‘m?

ve
Z{hat are integrated circuits ? G;:s
ample. Why and hoY, ‘pe
Protection is required ? C3% e
Patenteq ? How long do of
Protection jast in layou*

Mtegrateq circuit ? =8

1+1+3+H2

22

(ti)

(i)

oS 61 &5 2 o i faat | R
e (FEE 2 TTHIY G 2 2P
oIT IRT ARE ¢ TRfTe I8
PR W R e A 2

Differentiate GATT from GATS.
2

GATT W% GATS-T #iifay farah

Define industrial design. Why and
how is it under Intellectual
Property Right ? 3+3=6
Tt W@ T QI ¢ [/ 9% (e
T e e Sl sege IF
F AR ¢

Write the structure and functions
of WTO. 242=4

WTO-9 9154 9% T &, |
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